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instructions 1) Check the question Paper for faimess aof prnting. If there ig any lack of
faimess, inform the hall Supervisor immediatialy,

uEs = | I PART - |

Sy (i) B o AR o s o nﬂmj_mnﬂut.amp.h. 15 % 1=15
(i) SwrHdscn Brans aflane mafisy el sThHUe wr afgp s aor 5
SETACSBEE mauTe B e silene_ullensmupn Toidg sragsayi.
Nate: (i) Answer all the Questions,

(iiChoose the most suitable answer from the given four alternatives and write
the option code with the Comesponding answer
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1. wirfdl myerey asen Suflgreaapn, J7 GsrBEsdiuc rnegne FmbsHTse, wrld
usTusTama Srrgmaruls 0F aarughg uFars B U
(=) wrglfls Fgasd (gt} wr B warmor L arenar
(®@) worfd fili alleEsibn () wrdf aildls o
When nis large and o2 is unknown, o? is replaced in the test statistic by
{a) Sample mean (b) Sample variance

{z) Sample standard deviation (d) Sampie pmpnrliﬂn"

2. Purgiurs Sumn wrg fs s os Gest vwstoFasluieg siEuy i
() m =100 () »n =50 (@) n=40 (w) mr=30
In general, large sample theory is applicable when 2

(a) m =100 (b) m =50 (c) nz 40 (d) nz=30

3. spm Fwidlsa gapsne Sgrgfulldr wrgorl Leemn sTThs S SsTemer

Brrdl oo mhm N AT ek R

() § = GFrHonsm (=g) F - Brrsanem

(§) z - Brrgemen () snsaiids Gersomen

For testing the hypothesis concerning variance of a normal population s

used.

(a)t-test (b} F - test {e) z - test (d) # test
4. F- wedfl ussswuarena auitdm Henpsailsr afdgi sarayi

susn wnihs LR A DS

(-2y) Bl sroed] () spon suvad

(B apsigy srrad () musing srrsd

F-statistic is also defined as the ratio of SquUare errors.

(2)Tweo means (b) one mean

(c) Three means (d) four means
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(TS [T T uEILrurrlhw penm -ﬁ'lﬁn M TLa 1 5 LD TR B

=) Bsmyls (mg,) aflsuFrwn (&) Loim&E b (=) wroilwey
ANOVA technigue originated in the field of
(a) Industry (b} Agriculture (c) Medicine ({d) Genetics

S L BmaysElany syenwuyh e Glauef
() =1srsld () ~1<r< (@) 0<r=l (=) =1=r=l
The correlation coefficient is given by

(@) —lzr=0 (b} -1<r<1t (c} 0<r=l {d) -lsrsl

aufisng syerey o e w Fmwrflamsden. Suwrar Sare iy uhod wg
Loy} er.e7ib. L Cig sl &7 QU Hmay

l-p) Arrssv s phmb Baar s 51 g Hnsy

(&) svis Furirafion sr ol Foay

(=) srouilw i Goalldr mr s Hiney

correlation sludies is the association of two variables with ordinal

scale.

{a) AM. Tuttle rank {b) Goxton and Cowdaon rank
(c) Karl Pearson's rank (d) Spearman’s rank

b = levadlsy b craaringy

(omy) 1 () 0 (@) =1 () <1

if &, >1then b _is
{a) 1 {b) O {c) =1 (d) <1

e L simalETL iy Eursar Glau gk GlETaETEmin sl

() (X.1) () (X.F) (&) (0,0) (%) (1,1)
The regression ines intersect at
{a) (X.¥) (b) (X,¥) {c) (0,0) (d) (1,1)
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10, svrsivdlur wopin urfuller allmassd el § sarssr empEu 324 whHmni 144
sraflsy Waglflar alpguflu @dlufc @ sravr starugy
() 234 () 243 (@) 261 () 216
If Laspeyre's price index is 324 and Paasche's price index is 144, then Fisher's ideal

index is

{a) 234 {b) 243 (c) 261 {d) 216
M. srag Glere i suflansoilss S [ 06T R ETER
(=) @remB (-88) peimp)
(@) prains, (=) sha

The number of components in a time series is
{a)Two {b) thres
(c) four (d) five

12. sralg@sm i aiflasife s gisa T,5,C @hpni| & drorl sew L {f) sty uemLoeiL
(=) Bsls 8= Cxd () ¥=T R84S |
(®) F=T=8+Cx/ (F) ¥ =Tu8SxC+17

An additive model of time seres with components T.5,C and | is
() F=TuS=xCxl MY F=T+85+C+/[

(c) ¥F=T=85+Cux1’ (d) F=Tx8xC+7

13. auripienss @l if B sparallBas

() Fpiy ~@miy aflssd L) eurgilenae Klapalsr afalgio
(&) el Fooy eildsn (=] Surgranrar smaymsa alfsn
Vital index measures

{a) birth-death ratic () rate of vital event

() infant mortality rate (d) general fertility rate
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14, airporellar aglruridmus malldmin mbdlr o

By = ax by =t
(=) e"(x) I (=) e'ix)= T
(@) e"(x)=Te—Ix () &*(x) =T+
Fowmula required to calculate expectation of life
O 0 X
(a8) e'(x)= = (b) £ (z)= Te
(c) e"(x)=Te=Ix (d) e"{x)=Tx + Ix

15, om apssurar tougnide Bw g6 yfu Grumea uustuB S0 Cugne
allanarenal syrfu)hn Syrsamear

() F Gargensn () wrpor G0 wmiunday
(B & suitss Borgenar (=)t - Fewenrd Zrrgeoem

When we study the effect of any new intervention is

(@) F tast (b} ANDWVA
(g} chisquare test [d) paired t test
vigggl Il { PART =11
sremauBiugpid sy ollarrdsmpdg allmowaflssa) . Bx2=12

ailewm sremr 24 - &g & rwnrs alee wafl &S,
Answer any six questions.
Quasticn No. 24 is compulsory.

16, sysprorar’) ysrallufluey starug) sreran?
What iz inferential Statistics?

17, @enawrbs ws Dl uerusranad 20 gmaranm STCHEl LT LS| LRGS0 T 7
When paired t-tast can be applied?
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18.

19,

20,

21.

23.

24,

B Fuwsvblene gpugemiod GnTmg wrpurPsssssio. Guwrar Grrsmensgfu
S ) LD T 6T B 6T 1) T 6 7

What are the assumptions for testing the ratio of two normal pepulation variances?

spLbipallar LsBaug) sumsnenar o ifss.
What are the different types of correlation?

PerRssiuce Fran® e _ar@sro iy Sarl Bbarear srafa ir[!‘ﬁig;liu Liamp

oG aTET ! DT aflenL_ & e A L T T TER

ye=] Sx4+7 ehmn x=06y+97.. .

Is there any mistake in the data provided about the regression lines y=—1.5x+7 and
=06v+9 7 Give reason,

FLpsl BT HENGT TATDTEY 6TETEN 7
What is circular tegt?

apergy (psisenilliy apsepsear w7
What are the three types of forecasting?

am BRTld G miloPC L sragds dngs mpaiisalsr aaradsmeni, 5138
sra) G Sauaflulld nks myalsafisr sl demsuyir, gpenpBu 400 peab,
25 mmapn ugla) Gl Ferarar. s mbx whnsfar swal Go oy

al g semes (IMR) sawnidlfa,

The number of live births recorded and the number of infants died in a town during a
given period are respectively 400 and 25. Calculate from these information, the
Infant mortality rate of the town for the period.

ugblu yorafufwe syasuasd e Gl apma wrsnau?
What are the divisions of CS07
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wymal W/ Part = I

sTemeuBwignin aym allar b P UES syeralld) aflen_weldaaps. Bx3=18
ailarr sraw. 33 - 5 & L runers s e _wisfldaayi.
Answer any six questions, Question No.33 is compulsory,

25, g% smdal EnieensAla  Fwamiig pamnulla 100 LomeEma thar Gl iy
@rlwiuc § syaiselar  srref eurn 163 Qpf A Lalwisn 10 Go.f
MEayl o srengy. MO: =167 sreirgpite [ swanuw FHE SETEmGE gnU wr gl
LisiaTL e smsud BErsenarulls (LEAVEL THE R T
A set of 100 students is selected randomly from an institution. The mean height of
these students is 163cms and the standard deviation is 10cms. Calculate the valus of
the test Statistic under Ho H=167,

2B A ureweflar sy senerd S T11 5.
State the properties of A2 distribution,

27 peuf WHD Bsanfuwsgir’ Ho glimisailaver oG,
Compare one way and two way ANOVA,

28.  covx,¥) = 18.6, x -giv gLy =202, y —gr wrgrur® =237 el F @er wg Lany
BTG, |

Given that cov(x, ) = |8.6, variance of x-20.2 variance of ¥=23.7. Find r, 1

29,  £pbmam sroysaflelmhg 1997 g g 1 miEiGairs aflaa Ealudl g

evsinrenen 1996 ayih sy efiweni sy s AT T 55 SHTEE &,

STl sar II 1996 b o efmigst 1997 0 = ey 60 aflemey
allemar (F) (%)
il 130 | 115
| Gargimio 85 85
| FiSSan T 75 7o
w1 T Gl 105 105
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Construct the price index number for the year 1997, from the followng information

taking 1996 as base year.

Commodities Price in 1996(%) Price in 1987(¥)
Rice 130 115
Wheat 85 65 ;
' Sugar 75 70 ‘
il 105 105
30. surgp@lense’) ysraflulusy uHellu sumrwsnpsar faaimhamp o u5s.

3.

32,

33.

Write down the definitions of vital statistics.

Pn ADDITS B freT HWIIbU SSTHTT SULSHL @rravgs Hphs @ybhmssalsy
stedramiihens 135 s, sdgpfid sydaeurabigs 300 Gui Emasdraran.
M iTHgHsT grreamsnL. Bapsy Gslwrs 5 Ay gybassenn  @nogierrei,
aysusurprulsr gy fer myal @ooy aldssmes srans.

A primary Health Centre located ina village has.a record of 135 live births during a
Year, The number of deaths recorded in the village was 300, Among them, 5 are new
born babies of age less than a year. Measure the infant mortality rate of the

village?

o gt Bgr Tl sremsuEwgnit ApsiTI) LGN L) & ST nws.'{

Write any threa properties of regrassion.

FHlC B Tansmar £ Canwluglsl o drer UlrfFmeansdr wrene?

What are the precautions that should be taken in the constructing Index numbers?
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uisd = IV [ Part - IV

BTG Al SEERAmD il wiefl&a 60, X5 =25
Answer all the gquestions.
Guaribion Mo 58 05 Compuliory.

et tent 35— AB Pt pais P ———

34,

(=)  sgpelmigd  vesfseld  waldafise  giagpaiw 2o iy
ursrait sofisn Bw ey garm @ usdsale pgsii g, A uizglailsy
Gsflay Qriwdu L 300 orewaisafss, 34 Gui sy isnb GlaramBererert srsivgy B
umdulld @gifey Gederinn. L 200 wramaisaeids 28 Sy .%.hm.bjmmrruﬁ:@irmm.&
stemagn Gafdng.  Gdalardsmensd  Saramg, Figulimoyl  ueref mefld
velisvaugle g iaypame Sunid B uggfluld e srar wraward sensrail A RIEF AT

BT LTRSSy TauapL st Bl Anird i sTaTLEDE BurgicTer LETTD
B GHENET STSTLIGNS S uiay B,

a) Interest of XIi students on Residential schooling was investigated among randomly
selected students from two regions. Ameng 300 students from region A, 34 studenis
expressed their interest. Among 200 students selected from region B, 28 students
expressad their interest. Does-this information provide sufficient evidence to
conclude at 5% level of significancs that students in region A are mare interested in
residential schooling than the students in ragion B7

(sysiavg / or)
() swrdidnyg grenmpuled CpiblsBastiu’ L sTafa’ mena Lhmne FrdSai’ samau
Mg A risafs) eder sridur  mand 3 Spemay  (frmdld) L3y
S asmeamiild  Qer@Esou Besrg  Grews allfiorar  ssaumafgib
srdGursngmd Brl gyaraldr wrpr G QasBainrarena s Fa MIsUE DI

ESIRITET AT & GrenET srew Bevdlds, o = 2%

sré@auc sva (29 (25 (18 |40 |41 |25 |32 |30 |38 34 |25 |28

g S 32 |39 (37 |29 |30 (38 (39 (10 |29 (55 |29
e ST T |
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b) The carbohydrates contains in sesvings of some randomly selected chocolate
and non-chocolate candies are listed below. Is there sufficient evidence to conclude
that the vanance in carbohydrates varies between chocolate and non-chocolate
candies? o = 1%

&
&

|chocolate (29 [25 [18 [40 |41 |25 [32 |30 |38 |oa

Mon- 39 39 ar 29 30 38 39 10 it 25 29
chocolate

3. (=) wrewraitsd gon Lufialke apsigpit, Mgk s gscuc. Ssrallds e s
Slerfim Lo e g viglall dan’ & Pk T gy DL L Suen L]
UBSSOL Berarg. FouudpAurengs syantsafisr w06 asmar BT T,
e gafsmwrs Embsar sten srdis.

uidpise apsr | 100 | 180 13 | 122 120 105

1L-hﬂﬂ£é@d¢ 120} 155 120 128 | 115 100

(a) A test was conducted with 6 students before and after the training programme.
Their marks were recorded and tabulated as shown below. Test whether the

training was helpful in improving their scores.

Before | 100 160 113 122 120 | 105
training |

After 120 155 120 128 115 100
training
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( ysvaog / or)
(o) dareumie sraysaflil shog whpbd useflear s wrisda (@)
SarBasiul Harerg. skens  whHpn wesaelsr e wrdhsgmsdlan Cw e drar

plErLTrilmear srid) Fwisrar gl Gpaysblsyy (paopannl Lwsatobsgsls sramrs.

iensullsr 65 66 67 67 68 69 T0 72

& _@irh i

L gufl i &7 B8 E5 68 T2 f2 68 61

o i || ||

(b} The following data gives the heights(in inches) of father and his eldest son.
Compute correlation coefficient between the heights of father and son using Karl
Pearson's method,

\Height of |65 |&6 | |67 |67 |es  |ss. |70 |7z
father

Height of | 67 68 65 68 [y 72 B9 61

S0

36. () ol BHneay wpmb &Lt BT deanu BapuiBsss.
(&) Distinguish between corralation and regression
( ppelrovgy for )

(o) Maraume srag Barot aflasdld) umpa sral srpurfsmas srEns.
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ar.

srerawg | 2000 2001 2002 2003
I 65 58 TO &0
r 58 63 59 55
1 56 83 56 51 o
I 61 67 52 58
{b) Find the seasonal variations for the following table
Quarter 2000 2001 2002 2003
I 65 58 70 60
! 58 63 59 55
i 56 63 56 51
v 61 B7 52 58

(m) 3y GErEES0UL Heer o suamsmruilic sy ouenL EOmie SOy

e HEalal  mhsl

ST Basiu Hararer.  Flda L susaranil

BT R sembssTer ol

SHELE e sreurpm  Ssrsserswl yiEd  Grddnsr

FiluT TS,

Surmesar | g luem g | B aysw® 1l
P - | 9 siosdlan | ayarey ki

aflme (T) allana ()

A 4 | 40 5 B0

B 5 | 50 10 70

c g8 65 12 80

() & 20 6 a0

E T 30 10 [45

SIBDETAT BT 5T
vwstruiEs,  degfler  allagoflur

ATERLIERS
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[ mysvsugy )

() surpilense sl L aumeamrailen gm usd alFul L e glysGarr® £Ey

i Hewergr el e gy Soeer Biris.

A Nx)  |d(x)  |elx) |ate)  |x) | T(x) | edx)
(gy s imalsi f i

3 69818 |

37 69032

38 | 8212|850 | | 1779254

(&) The table below gives the prices of base year and curmrent year of 5 commodities with
their quantities. Use it to verily whether Fisher's ideal index satisfies time reversal test.

Commodity _Elf_sf_ year | Current year
Unit pric-ai'!] Quantity | Unit price(%) | Quantity
A 4 40 5 60
B |5 50 10 70
C 8 B5 l42 80
D 5 20 6 30
E 7 30 | 10 75

Or

{b) The following is a section of a Life Table with some missing entries. Complete tha life

fobig. T

Agefin |ix)  |dx) |plx) |atx)  [x)  [T(x)  [edx)
| years) |

36 69818 |

37 9032 | _-

38 68212 | 850 1779254
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38. (=)

PH  BHETsD

LiGF s Eaf sy

B_ETET e vullgyn 12spb  sumly
LT g i ppemmuile  geallarm osareflefgik 5 Qo
BaibEaRésiul® Bade s s0Subbg. sauisst  Supn  wdoSus
LAl g (Lo e
Lagira! | 2 T ] 5 8
veradll |7 4 5 4 |5
g 1 (3] ] B ) 6

P sl wrpurT B0 g lumisy S,

(a) A test was given to five students taken at random from X1l class of three schools of

a town. The individual scores are

School | g 7 B s 8
Schoolll |7 4 5 4 5
Schoollll - {8 5 ] 7 6

Carry out the one-way ANOVA,
(oysvaug | Or)

(=) o A Ooswflullsy) p_srer usUEnm Blenatsamar(l Ui el lwisd ) Senar

adlgari e,

(b) Briefly explain the characteristics of vanous stages in a project waork,

o

£
A »29{
s
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